
  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



#include<iostream> 
using std::cout; 
using std::endl; 
using std::cin; 
main() 
{ 
 int s; 
 int n; 
 int k=2; 
      int sum; 
 sum=0; 
 int i; 
 long fact; 
 fact=1; 
 int x; 
 int y; 
 cout<<"1) sum=2+4+6.......................N"<<endl; 
 cout<<"2) factorial=1*2*3.................N"<<endl; 
 cout<<"3) find y from y=2x+3......x=1.....N"<<endl; 
 cout<<"===================="<<endl; 
 cout<<"enter yuor selection"<<endl; 
 cin>>s; 
 switch(s) 
 { 
 case 1: 
 cout<<"enter value of n"<<endl; 
      cin>>n; 
      cout<<"================="<<endl; 
      cout<<"i"<<'\t'<<"serial"<<endl; 
      cout<<"================="<<endl; 
 for(i=1;i<=n;i=i+1) 
 { 
        sum=sum+k; 
        cout<<i<<'\t'<<k<<endl; 
  k=k+2; 
 } 
 cout<<"================="<<endl; 
 cout<<"sum="<<sum<<endl; 
 cout<<"================="<<endl; 
 break; 
 case 2: 
 cout<<"enter value of n"<<endl; 
      cin>>n; 
      cout<<"================="<<endl; 
      cout<<"i"<<'\t'<<"factorial"<<endl; 
      cout<<"================="<<endl; 
 for(i=1;i<=n;i=i+1) 
 { 
   fact=fact*i; 
        cout<<i<<'\t'<<fact<<endl; 
 } 
 cout<<"================="<<endl; 
 cout<<"factorial="<<fact<<endl; 
 cout<<"================="<<endl; 
 break; 



 
    case 3: 
    cout<<"enter value of n"<<endl; 
    cin>>n; 
    cout<<"================="<<endl; 
    cout<<"x"<<'\t'<<"y=2x+3"<<endl; 
    cout<<"================="<<endl; 
    for(x=1;x<=n;x=x+1) 
 { 
  y=2*x+3; 
        cout<<x<<'\t'<<y<<endl; 
   
 } 
 cout<<"================="<<endl; 
 break; 
     default :cout<<"SORRY DATA OUT OF RANGE"<<endl; 
 } 
 return 0; 
      } 


